[ Efficiency vs vertpos |
-~ 0.5

20.45
2

2 04
(&)
$0.35
0.3

0.25
0.2

effic

10 0?
TP vertr (cr%)

—— B‘aﬁzzlt?yimllillyfdtf_:uleﬁﬁmdl TEMSSW A0 SfsTTMTV-piotDOM_—TT —orgima—PY
e == B Srb AT e,
Efficiend —— B8N-H—pLF—ptALL—xxhPU

~ 0.5
TP S S -

2! T R B
2 0.4t bb
> F . . . . N
g F H . H N .
o S A
o F : : : : :
£ 0.3 bbb
() . . . .

R e s
0.2 oo W
L
N T s e
oosk

9*‘9§+"|**ﬂ'.

& E e Y

£ e
0% =20 -10 O 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 05
>

0.0.45

20 =15 -10 5 0 5 10 15 20
Sim. PV z (cm)

0.952



	Contents
	Page 1


